Explaining things correctly
To find out the Reactivity Series, you can drop the metal in the acid and see which one is better
An adaptation the lung has is that it is used in gas exchange

Eating too much animal fat is not good because the fat may be too heavy

In 2009 and 2010 the number of butterflies were sort of the same

The line started at 100g/cm3

(On the temperature of salt water and fresh water over time)…….they both go down after 5 minutes

As the population of lions increase, the impala go down

The food with the better carbohydrates was bread

If there are carbohydrates present, the starch will turn blue/black

The limewater will go milky as it produces carbon dioxide
